
(8 points; 10 minutes)
Use the information in the contingency table to decide whether or not to reject the 5.
claim that Factor A and Factor B are independent.  Let a = 0.05 for this test.

Claim:RowLevel of Factor ALevel of
Total321Factor B

H0:2006668661

2006283552
H1:

2006988433
Column

600197239164Total

(10 points : 10 minutes)
A maker of tires for cars believes a new design will wear longer than the current design.10.
Four of the new tires are prepared.  Four cars are used in an experiment where one tire
of the old design and one of the new design are used on the front wheels of each car.
Use the data below to test the manufacturer's claim that the new design will increase the
miles of wear by more than 500 miles.  (Use a 0.10 significance level for the test.)

Miles of Wear per Tire

NewOld
DesignDesignCar

59100585001
60700601002
59200585003
63800634004
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